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 araces harad nanaket ayniggnit halada isnetrepiH  kilotsis nanaket anamid patenem

041 sataid  ghmm 09 sataid kilotsaid nanaket nad ghmm .  halada serts namejanaM
rtnognep nakukalem kutnu margorp utaus .serts narutagnep uata nalo   ini naitileneP

huragnep tahilem kutnu naujutreb  anurunep padahret serts namejanam  nanaket n
 harad ini naitilenep malad kejbuS .isnetrepih atirednep adap   atirednep halada

ed laisnese isnetrepih takgnit isnetrepih irogetak nagn  d iapmas 1  isnetrepih nagne
takgnit  ikal ,2 - nades serts takgnit ikilimem ,naupmerep nad ikal g  .iggnit aggnih

ruku tala nagned nakukalid atad nalupmugnep kinkeT   nad serts alaks  ruku tala
 harad nanaket  retemonamomgyhps askar ria  .  halada ini naitilenep nagnacnaR  owt

ngised tsettsop tseterp puorg iju kinket nakanuggnem atad sisilanA .   adeb
 kitemarapnoN nnaM - yentihW  ed  tahilem nagn  erocs deniag adap   tseterp nad  

tsettsop  huragnepreb serts namejanam awhab nakkujnunem gnay ,  padahret
harad nanaket nanurunep  netrepih atirednep adap  ,laisnese is  ialin nagned  = Z -

2, 400,0 = p 748  < p(   = Z ialin nagned nad ,kilotsis harad nanaket adap )50,0 -
400,0 =p 748,2  kilotsid harad nanaket adap )50,0 < p( .  naknurunem tapad nialeS

harad nanaket  isnetrepih atirednep adap   naknurunem tapad aguj serts namejanam
 = Z ialin nagned ,serts takgnit - =p 671.2  .)50,0>p( 030,0  

 
 :icnuK ataK   ,sertS namejanaM isnetrepiH  ,  sertS nad . 
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 si erusserp cilotsys erehw erusserp doolb hgih yltnetsisrep a si noisnetrepyH
 si tnemeganam ssertS .ghmm 09 evoba si erusserp cilotsaid dna ghmm 041 evoba

mia yduts sihT .sserts gniganam ro gnillortnoc rof margorp a  tceffe eht ta kool ot s
 .noisnetrepyh htiw elpoep ni erusserp doolb gnicuder no tnemeganam sserts fo
 fo yrogetac eht ni noisnetrepyh laitnesse htiw stneitap erew yduts siht ni stcejbuS

edom dah ,elamef dna elam ,noisnetrepyh 2 level ot 1 level noisnetrepyh  ot etar
 eht gnirusaem yb tuo deirrac erew seuqinhcet noitcelloc ataD .slevel sserts hgih
 ehT .erusserp doolb retemonamomgyhps yrucrem eht gnirusaem dna elacs sserts
 eht desu sisylana ataD .ngised tsettsop tseterp puorg owt si hcraeser siht fo ngised

nnaM -W  eht ta gnikool yb euqinhceT tseT ecnereffiD citemarapnoN yentih
 tnemeganam sserts taht dewohs hcihw ,tsettsop dna tseterp eht no serocs deniatbo
 ,noisnetrepyh laitnesse htiw stneitap ni erusserp doolb gnicuder no tceffe na dah

 = eulav Z a htiw - 0 = p 748.2  a htiw dna ,erusserp doolb cilotsys ni )50.0< p( 400.
 = eulav Z -  ot noitidda nI .erusserp doolb cilotsyd ni )50.0< p( 400.0 = p 748.2

 osla nac tnemeganam sserts ,noisnetrepyh htiw stneitap ni erusserp doolb gnicuder
 fo eulav Z a htiw ,slevel sserts ecuder - .)50.0 >p( 030.0 = p 671.2  

sdrowyeK ssertS dna ,noisnetrepyH ,tnemeganaM ssertS : . 

 


